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#!/bin/sh

I12CADDR=0x1E
DFLT_GAIN=5

usage ()

{

echo “Usage: $0 [gain]

echo “Where

echo ” Default 5.
echo “Eg: $0 2”7

exit 1

endian ()

{

# only for word numbers with “0x” prefix. Eg: 0x1234
v=$1
echo 0x${v:6:2}${v:4:2}${v:2:2}

to_2s_complement ()
{
val=$1
sign=§ ((val & 0x8000))
if | [ $sign —eq 0 ]; then

echo ” gain : Optional paramter from 0 to 7 indicating the gain.”

echo “echo $val | awk * {ans=($1-65536); printf’%d¥n”, ans}’ =

else
echo “echo $val | awk ’ {printf”%d¥n”, $1} "
fi
}
checkready ()
{
# check ready bit in Status register
while [ 1] ; do
aa= i2cget —f —y 3 $I2CADDR 0x9 b’
aa= echo $(($aa & 1))
if [ $aa —eq 1 ] ; then
break
fi
done
}
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# Argument checks

if [ $# —eq 0 ]; then
GAIN=$DFLT_GAIN

elif [ $# —eq 1 ]; then

GAIN=$1

else
echo “Error: Parameter mismatch”
usage $0

fi

if [ $GAIN -1t 0 ] [[ [ $GAIN —gt 7 1; then
echo “Error: Unacceptable [gain] value”
usage $0

fi

# device check (read Identification Register A)
id= i2cget —f -y 3 $I2CADDR 10 b
if [$? =071 || [ $id != 0x48 1; then
echo “Error: HMC-5883 not detected”
exit 1;
fi

# initialize

i2cset —f -y 3 $I2CADDR 0 0x70 b

# Set Gain in Configuration Register B

GAIN=$ (($GAIN << 5))

i2cset —f -y 3 $I12CADDR 1 $GAIN b

# Set Continuous—measurement mode in Mode register
i2cset —f -y 3 $I12CADDR 2 0x0 b

# Wait for RDY

checkready

old_xout=0

old_yout=0

old_zout=0

while [ 1 ] ; do

# Read data

xout=$ (endian i2cget —f —y 3 $12CADDR 0x3 w )
zout=$ (endian i2cget —f —y 3 $I2CADDR 0x5 w )
yout=$ (endian i2cget —f —y 3 $I2CADDR 0x7 w )

old_xout=$xout
old_yout=$yout

old _zout=$zout

# Set samples averaged — 8, Data output rate — 15 Hz, normal measurement in Configuration Register B

if [ $xout != $old_xout ] || [ $yout != $old_yout ] || [ $zout != $old_zout ]; then

xout=$ (to_2s_complement
yout=$ (to_2s_complement
Zout:$(t0725700mp1ement
echo “#kkx  DATA  skoksk”
echo XOUT : $xout
echo YOUT : $yout

$xout)
$yout)
$zout)
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echo ZOUT : $zout
fi

# Wait for RDY
checkready

# delay

usleep 500000

done
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# hme58831. sh 5

kkkk DATA ke

XOUT : —228

YOUT : 877

ZOUT : -1

sk DATA sk
XOUT : -83

YOUT : 321

ZOUT : 0
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